GENERAL STUDIES

1.  December 1929 — Lahore Congress Convention put emphasis on
(a) Home-Rule
(b) Purna Swaraj
(c) Dominion status
(d) Proper representation of Indians in the administration

2. Who led the Bardoli Satyagraha of 1928 ?

(a) Followers of Gandhiji (b) Congress Socialist Party
(c) Leftist (d) Kisan Sabha
3.  Who was the founder of Ghadar Party ?
(a) Barkatullah (b) Lala Hardayal
(c) Bhagat Singh (d) Lala Lajpat Rai
4.  Who is considered as the “Liberator of Indian Press” ?
(a) Augustus Hicky (b) Charles Metcalfe
(c) MacGrath (d) Disaraeli
5.  When did Jawaharlal Nehru become President of Indian National Congress for the first
time ?
(a) 1929 (b) 1927
(c) 1921 (d) 1932
6.  New Industrial Policy of India, 1991 is based on
(a) Liberalisation (b) Privatisation
(c) Globalisation (d) All of the above
7.  Human Development Index (HDI) in India includes
(a) Life expectancy (b) Educational attainment
(c) Per Capita Income (d) All of the above
8. ‘TRYSEM’ is a programme of
(a) Rural Development (b) Industrial Development
(c) Urban Development (d) Defence Development

9.  In which year was the Life Insurance Corporation (LIC) of India founded ?

(a) 1953 (b) 1956
(c) 1954 (d) 1958

10. When did ‘First Industrial Policy of India’ come into existence ?
(a) March, 1942 (b) May, 1946
(c) April, 1948 (d) June, 1952
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T AT
1. feomax 1929, & AER SUE & AfEyE 3 IR fear -

(a) BU-BA (b) Iof =S

(c) 3Nufafes Twmem (d) IITEH T TR 6 Tgt aefert
2. 1928 % SRGIEH T 1 qcd feha femam o 7

(a) TS o TR 4 (b) HIT T It 4

(c) ol (d) Tram TS
3. T U T HEATI i T 7

(a) Sehd3edl (b) AT BEATA

(c) wa g (d) AT TSI T

4.  “YRAE 39 6 a1 Yo fRl e S g ?

(a) AT faaht (b) =TcH THTE
(c) HeUY (d) fesmeh
5. AR J8E WA TS SHUd o Ugell IR 70T el §4 7
(a) 1929 (b) 1927
() 1921 (d) 1932
6. W hi =18 3Menfirs Hifa, 1991 e @ -
(a) SR (b) Tsfie
(c) el (d) Swer @t
7.  9Rd H A4 fgehtE gaeieh (HDI) | dutfase 8 -
(a)  Sftee Jeamem (b) Siferes Iuefey
(©) i safe s (d) 3w wfl
8. TSN Ush HIEHH R -
(a) TITHOT forehTE (b) 3NeNfies foprE 1
(c) W& TorshrE w1 (d) e fapE
9. WA Sita s fem (LIC) 3w fore o 7 g8 off 7
(a) 1953 (b) 1956
(c) 1954 (d) 1958
10. WA T ugelt 3fenfies ifd s s1feqea 4 318 7
(a) UM, 1942 (b) WS, 1946
(c) 373, 1948 (d) S, 1952
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11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Fourteenth Finance Commission (2015-20) submitted its report to the President of India on

(a) December, 2014 (b) January, 2015

(¢) October, 2016 (d) May, 2017

The Rural Infrastructure Development Fund (RIDF) has been created under

(a) RBI (b) NABARD

(c) Ministry of Agriculture (d) Ministry of Rural Development
From which sector in India, is the “Maximum Gross Domestic Savings” obtained ?
(a) Public sector (b) Household sector

(c) Private sector (d) None of the above

In which year did NITT AAYOG come into existence ?

(a) January 01, 2014 (b) January 26,2014
(c) January 26, 2015 (d) January 01, 2015
Which of the following was the first Five Year Plan period ?

(a) 1946-50 (b) 1951-56

(c) 1952-57 (d) 1953-58

When was National Statistical Commission (NSC) constituted ?

(a) 1 June, 2000 (b) 10 June, 2002
(c) 24 May, 2004 (d) 12 July, 2006
The concept of ‘Vicious Circle’ of poverty is related to

(a) Karl Marx (b) R. Nurkse

(c) Adam Smith (d) None of the above
Which of the following does not contain carbon ?

(a) Diamond (b) Graphite

(c) Coal (d) Sandstone
Heavy water is a

(a) Coolant (b) Moderator

(¢) Kind of medicine (d) Fuel

The chemical name of Vitamin C is
(a) Folic Acid (b) Citric Acid
(c) Ascorbic acid (d) Lactic acid

Which of the following metals, can be cut by a knife ?
(a) Silver (b) Aluminium
(c) Zinc (d) Sodium
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11. <iged fo 3TN (2015-20) ¥ WA o TS 3l 3191 RATE SR <ht -

(a) Temmar, 2014 (b) A, 2015

(c) 3THSR, 2016 (d) =g, 2017
12, TTHIOT STEEATIAT frehTE Y o1 G fohreh 314 feha T 2 2

(a) AR (b) -

(c) YT (d)  vmefior ferehre e
13. wRa ® form & @, “31frehad $e1 sl = W Bl 8 7

(a) TSI & (b) A

(c) froft &m (d) TH A HE T
14. Torm o ifa smenm srfeqea ° amn @

(a) S 01,2014 (b) SHal 26,2014

(c) e 26,2015 (d) A= 01,2015
15. =9 9o i 1aft vom g=efa Jiemn 6 eft ¢

(a) 1946-50 (b) 1951-56

(c) 1952-57 (d) 1953-58
16. TSI HIEIEhT SR Shi TTIAT e g8 off ?

(a) 13H, 2000 (b) 10, 2002

() 2478, 2004 (d) 12 I, 2006
17.  ‘TAEee 1 gees’ hl SN FFEled @ -

(a) ohTct AT (b) AR, ThHE

(c) TeH o (d) STg o § 1S T
18. Frfofiga & forei sl T Blan &

(@) B (b) IS

(c) (d) S TR
19. 90 91T 8 Uk :

(a) Midcteh (b) HT<H

(c) Ueh YR h i (d) 3o
20. foerfim-=f = e AW R

(a) hifeTeh 3T (b) TTSfeH 30

(c) UEhifeieh 3T (d) AfFes 3
21. fr=® @, oM g =Tk 8 HIE S Tehdl B 7

(a) =ial (b) TeghtrEm

(c) St&dT (d) wfeaw
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22. “Chipko Movement’ is related to
(a) Project Tiger (b) Plant breeding
(c) Forest conservation (d) Tissue culture

23.  Which of the following is a bio-technological process ?
(a) Curdling of milk in the stomach (b)  Preparation of yoghurt or curd
(c) Making of pickle (d) None of the above

24. Anaemia is caused due to deficiency of which of the following vitamins ?
(@) A,andB, (b) BgandB,
(c) AandD (d) EandK

25. Elioplasts store
(a) Starch (b) Proteins
(c) Fats (d) Essential amino acids

26. Doors made of wood, swell up during rainy season due to
(a) Transpiration (b) Imbibition

(c) Exosmosis (d) Guttation

27.  Which of the following is referred to as the “Graveyard of RBC’s” ?
(a) Liver (b) Spleen
(c) Bone Marrow (d) Intestine

28. When Ice melts, its volume
(a) decreases (b) increases

(c) decreases and then increases (d) remains the same

29. Plants add water to the atmosphere in a process called
(a) Condensation (b) Precipitation
(¢) Runoff (d) Evapotranspiration

30. Bajaj Auto has launched a motorcycle built from metal of an Indian Naval ship. The name

of that ship is ;
(a) INS Vikramaditya (b) INS Vikrant
(c) INS Chakra (d) INS Virat

31. The tenure of RBI Governor is
(a) 2 years (b) 3 years
(c) 4 years (d) 5years
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22.

23.

24,

25.

26.

27.

28.

29.

30.

31.

“feept TTgle” TEEfRE B
(a) TIoTR TR A (b) WY TSI A
(c) TAHEIH d) I FadT Y

fafeRea o & - fafyr /ufskn Sa-enfieh 6 g ¢

(a)  SATHIRIE H G 1 STHAT (b) TE M

(c) IR M (d) S H H HIE Tl
Ierdar e 1 9 for fererfirg <ht steuan & SrRuT B 8 ¢

(a) T S, (b) s T,

(c) T (d 3TWH

(@) wWH (b) WA

(c) @& (d) SATEYIH ITHHT 3T
Tyl g H cehe! H & GETSII o ot ol HRUT § -

(a) TSI (b) 3T S

(c) ufg: e (d) forgamam
=1 1 @ forgent “Tet T SIRERIST Sl g HEl AT R ?

(a) IHd (b) faeedt

(c) e o= (d) 3T

e 9% fUeerdt 8 1 SEehT 3T -

(a) ®eAIRE | (b) weaig |

(c) UE Heale R agas | (d) TSR
qTeH g SgHee H Sl TR sl Tisha sheeldl & -

(a) HEH (b) STEET

(c) & (d) TSI

TSI 37T A e WA F1-&feh UId <hl 9Tq & HIHTSIhel SHRI & | 39 Id 1 A & -
(a) 3MME.u9.uq. fasraifeen (b) 3TME.TA.uH. T
(c) 3TS.UH.UH. =5h (d) AR.TH.TH. fore
AR FsTel Soh o T o ShIIehTed <h! 3T Bl & -

(a) 29 (b) 39

(c) 49 ) sH=
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32.

33.

34.

3S.

36.

37.

38.

39.

40.

41.

Chabahar Port will be jointly built by
(a) Iran, Afghanistan, India (b) Iraq, Afghanistan, India
(c) India, Pakistan, Iran (d) Pakistan, Iraq, India

Which organization was fined by the National Green Tribunal for damaging Biodiversity
of Yamuna at Delhi during the World Cultural Festival ?

(a) Green Peace (b) Artof Living
(c) World Culture Society (d) None of the above

Which Team won the IPL 2016 Championship ?
(a) Kings XI — Punjab (b)  Sun Risers — Hyderabad
(c) Mumbai Indians (d) Rising Pune Supergiants

How many satellites were put in orbit, by ISRO, through PSLV-C-37 ?

(a) 2 ®) 9

(c) 104 (d) 11

Which is the 29™ State of India ?

(a) Jharkhand (b) Uttarakhand
(c) Andhra Pradesh (d) Telangana

Jeev Milkha Singh is associated with which sport ?
(a) Chess (b) Boxing
(c) Golf (d) Wrestling

Which of the following won the Women Single’s Title of Wimbledon Tennis Tournament
2017 ?

(a) Venus Williams (b) Garbine Muguruza
(c) Serena Williams (d) Johanna Konta

Panama Papers Scandal related to :
(a) International Film Piracy (b)  Scams by big shots
(c) Copyright (d) Match fixing

Which one of the following States has bi-cameral legislature ?
(a) Tamil Nadu (b) Tripura
(c) West Bengal (d) Bihar

Indian Federation closely resembles the Federation of
(a) USA (b) Australia
(c) Switzerland (d) Canada
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32.

33.

34.

3S.

36.

37.

38.

39.

40.

41.

TSGR SEUTTE fobel <1 GRT T 9 & SR ST ?
(a) SUH, B, 9 (b) T, ITHIMEAH, W
(c) WIRd, UTfhEd, S0 (d) UTfREI™, 3, WRA

forea wepfa weicaa < g feeeft o T <t Sl -fafaedr 1 JHam gam & foe usd gfa
AR G FohE |7 TR S[HIT THIRIT TR o7 7

(a) WA (b) 3 3w feafam

(c) Tova a=piad aot (d) 3T A HiE ot &
IS 9. T, 2016 61 2rh fopm S = it oft 7

(a) T XI-u9me (b) T TS — 2GS
(c) s 3fteaw (d)  TrEfom gor gy
U 3, N.0q.TA . — C-37 & g, Toha" SUUE! ol her | Tnfud fopan g 7
(@ 2 b)) 9

(c) 104 (d) 11

A 1 I=ed] TT b @18 ?

(a) WS (b) ITES

(c) 379 Jem (d) T

e fircan g fraear a R & 2

(a) A (b)  HRETST

¢) Te® (d) et

fr=1 8 @ forea 2017 ) forerere 2fa-wa gfeifian |, dfgen wenet w1 Raare sfar 2
(a) da faformm (b) TR e

(c) o forferamm (d) SIEHI BT

JTHT U9H Thed o1 99 § -

(a) SR e TRt 9 (b) <t BfEa % Hieret |
(c) Siaferenfiespr & (d) = fefeam g
Freferitaa =i ° form vsa hi faum-nved feggeta g 2

(a) diHerTg (b) Fgu

(c) ufvem e d) foEr

TR T9 hIH § N o T h HGW B ?

(a) H T ST (b) Arfern

(c) Teaeeis (d) TSI
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42. 93 Amendment of the Constitution deals with
(a) Panchayati Raj Institutions
(b) Fundamental Duties
(c) North-Eastern States of India
(d) Reservation of OBC’s in educational Institutions

43. Political parties in India are recognised by
(a) Central Government (b) State Government
(c) Supreme Court of India (d) Election Commission of India

44. Right to Information Act in India was passed in

(a) 2004 (b) 1999
(c) 2005 (d) 2009
45. Total number of Union Territories in India is
(@ 5 (b)
(c) 7 (d 8
46. The Election Commission of India is
(a) Legal Institution (b) Administrative Institution
(c) Statutory Institution (d) Constitutional Institution

47. How many members of Anglo-Indian community are nominated to Lok Sabha by the
President of India ?

(@) 12 (b) 8
(c) 4 (d)
48. Pro-tem Speaker of Lok Sabha is appointed by
(a) President of India (b)  Vice-President of India
(c) Prime Minister of India (d)  Chief Justice of India

49. Under Article 70 of the Constitution of India, who will officiate as the President of India
during the absence of president and the Vice-president ?

(a) Speaker of the Lok Sabha (b)  Prime Minister of India
(c) Chief Election Commissioner of India(d)  Chief Justice of India

50. The official language of the Supreme Court of India is
(a) Hindi-Devnagri
(b)  Urdu/Persian
(c) English
(d) 18 Languages listed in the Constitution of India
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42.

43.

44.

45.

46.

47.

48.

49.

50.

9397 giures Gy fred gafta g 7

(a) U TS EEqT | (b) HifcTsh e ¥

(c) WIRd o IT-aT Ut & (d) Treqor Ty § OBC o 3TReT0r &
WA § TSk Tl ohl HI=IdT & ST &

(a) g TR gRI (b) TS TLHR g

(c) YA % I=aH =T g1 (d) W a3 gr

WA | T 1 SRR fopd a1 o T femart T 7

(a) 20047 (b) 1999

(c) 2005% (d) 20099

A | g S TSN <hl eT TEAT R

(@) 5 b) 6

() 7 d 8

T o1 fafem smam g

(a) Terferes @ (b) eI FEer

(c) ferfrafia ween (d) T T

Wl T H WRA o TFAfd g Tetl-30gam aqer o foha- ee THTd fohd S € 7
(a) 12 (b) 8

(c) 4 (d 2

Tl [T T -0 31eae] Fgeh fopan ST @ o

(a) WA o TP g (b) WA & IY-TFUd g

(c) YT & TEHE grRy (d) T % &I =R g

IRd & TiIaE & FTee 70 & FAaia Ugafd vd 39-Tgafa i rquferfs § S ugafa
BT ?

(a) I GT 3TeT&T (b) WA o JIHHA

(c) YRd % geF frafem 3w (d) WA % g&I =R

R o = AT <hl JTTRehTies WIS 8

(a) Tedt-gamrd (b) 3g /U

(c) 3sh (d) WA < Gfae™ ¥ gfifa 18 wamd
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51.

52.

53.

54.

55S.

56.

57.

58.

59.

60.

61.

Under whose Chairmanship, was the Second Administrative Reforms Commission
Constituted in 2005 ?

(a) Y.V.Reddy (b) V. Moily

(c) Manmohan Singh (d) V. Subramanyam

‘Manodaya Kavya’ was composed by

(a) Mansah (b) Shambhu Prasad Bahuguna

(c) Medhakar (d) Bharatkavi

Purushottam Pant was rewarded by which king ?

(a) Rudrachandra (b) Kalyanchandra

(c) Lakshmi Chandra (d) Uddhyotchandra

The Credit for establishing Bacteriological Laboratory at Mukteshwar, is given to
(@) Dr.J.T. Edward (b) Dr. Alfred Linguard

(c) A.W. Siltatan (d) Prof. Robert Cock

Which of the following river-pairs do not match ?

(a) Saryu - Panar (b) Kali — Gauri Ganga

(c) Vishnu Ganga — Dhauli (East) (d) Bhagirathi — Jadganga

Which of the following climatic conditions are found in the Bhabar belt of Uttarakhand ?
(a) Alpine (b)  Sub-Tropical

(c) Tropical (d) Temperate

Which one of the following mountain ranges falls between the main boundary fault and the
main central thrust in Uttarakhand ?

(a) Siwalik Range (b) Lesser Himalaya

(c) Great Himalaya (d) Tethys Himalaya
What was “Atta-Batta” in Uttarakhand ?

(a) Social belief (b) Marriage System

(c) Ritual (d) Religious Festival
In which fair of Uttarakhand does the tradition of killing fish exist ?
(a) Maun fair (b)  Chaiti fair

(¢) Gendi fair (d) Syaldey Bikhoti fair
What is ‘Chaufula’ ?

(a) Tehasil (b) Folk instrument

(c) Dance (d) Holy place
According to 2011 census, in Uttarakhand State which district had lowest literacy rate ?
(a) Uttarkashi (b) Tehri-Garhwal

(c) Haridwar (d) Udham Singh Nagar
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51. a9 2005 H, fefi smafes gam ST, fhaeht steetan | S T o ¢

(a) . ot g (b) . rged
(c) w e foag (d) . gemoaw
52. ‘“HHICH hred’ <hl AT I off
(a) HEE (b) TS SO
(c) WY (d) YRdh
53. EIH U= ol {ohdl TSI GRT Iahd ToRaT 3T T 7
(a) %g5Eg (b) AT
(c) &g (d) SEdEE
54. THYeR H SR RATCATIehel SRITTRITET <hl ST o1 231 fear Stran & —
(a) B3 ueas & (b) . Teths formmd =
(c) TU. Ty, feered i (d) 9. TaS Hieh hl
55. frefeRea 9€t-3mi 4 & o gafca T8 § 7
(a) HY-TN (b)  HIA-TET
(c) femupmm-eieh (qd) (d) wref-Ster
56. ITEUS § Wiek U H f # | form wepR ol roreg g € 7
(a) TeUTSH (b) 3T
(c) 3% (d) Sftarso
57. Iave H Frafefea 3 & < = vda Soft ger Hama g9 31 e qegad! g9 o o= e g 2
(a) Taranferes Soft (b) Y femTe™
(c) e feurer™ (d) o femmer
58. ITUGUE H ‘ITEI-Sgl w1 AT ¢
(a) GRS fogama (b) ToraTg Sewen
(c) ¥EHR (d) @fifes 3ca
59. ITUEUE o ford Tt H Aol AR hl 7o @ 7
(a) o7 HeAl (b) =t Bem
(c) TidtHem (d) rere-fordidt fre
60. ‘T TR ?
(a) dgHA (b) b
(c) T (d) Ul s
61. T 2011 3 FTUFT o FTIR, IAEUE T § <LIaH TTear X fopd ffer 4 off 7
(a) oI H (b) feett Tgara §
(c) BhgrRdH (d) HymidE FRH
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62. According to Census 2011, the sex-ratio of Uttarakhand state is

(a) 932 (b) 951
(c) 956 (d) 963
63. Ancient name of ‘Uttarkashi’ was
(a) Sudarshan Kshestra (b) Barahat
(c) Laksheshwar (d) Varnavarta

64. Where is the Headquarters of ‘Garhwal Regiment’ situated ?

(a) Chakrata (b) Ranikhet

(c) Dehradun (d) Lansdowne
65. The founder of Karttikeyapura dynasty was

(a) Lalitsurdeva (b) Bhudeva

(c) Basantan (d) Kalyanarajdev

66. Established in 1869 A.D. the First Superintendent of Kumaon Government Garden was

(a) Crow (b) Norman Gill
(c) R.D.Fordam (d) J.G.Burns
67. What is the main source of livelihood of rural population in the mountainous part of
Uttarakhand ?
(a) Horticulture (b) Horticulture and Tourism

(c) Agriculture and Animal Husbandary (d) Agriculture and Trade

68. The arithmetic density of population is
(a) Ratio between total land and total population.
(b) Ratio between total rural land and total population.
(c) Ratio between total agricultural land and total rural population.
(d) Ratio between total land and total rural population.

69. From the following, which is the Southern most point of India ?
(a) Indira point (b)  Shastri point
(c) Modi point (d) Ram point

70. Height of Bhakra Nangal Dam is
(a) 406 metres (b) 316 metres
(c) 226 metres (d) 186 metres

71.  According to the Census of 2011, which state has the highest population ?
(a) Uttar Pradesh (b) Bihar
(c) West-Bengal (d) Kerala
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62. ¥ 2011 I SIUMT % AR ITRAVE TSI I TATIIIMA 2 :

(a) 932 (b) 951
(c) 956 d) 963
63. ‘STHI’ o1 Y= A8 AT —
(a) Y & (b) WRIEE
(c) AT (d) Soried
64. TGATA-INTHUE T &I hal fRUa § 7
(a) hUAT (b) THREa
(c) <& (d) SHSRA
65. SHIfhIYL IR I TEATI T :
(a) Eﬁwgé‘d (b) %_"[
(c) =g (d) HATRTSET
66. 1869 3. T LTI HHTS Ta-He TS T ToH Jeftersh o1
(a) I (b) =7 firet
(c) 3. . BReH (d) .St =
67. STGUE & Y1 9T T FTHI0T STERET <hl 3TT1TerehT shT T Bild T § 7
(a) ST (b) STTEE & e
(c) hiY o TguTeH (d) HNF=mR

68. SIFERET T T Bcel B1T &
(a) Frqot fir 3R o1 ST % S T IITT
(b) Tl ITT fi 3R et SEET < S 1 I
(c) Ul HiY i 3R FHeT T SHEEAT % S HT ST
(d) =wrgot yftr 3R et mefior e o S T ST

69. fr=feriaa & & 1 o1 WRa o1 gfeoram fag g 7

(a) sfeu fog (b) T fiig

(c) et foig (d) Tmfeg
70. WRGST AT o718 <hl 4TS & —

(a) 406 HIX (b) 316

(c) 226HX (d) 186 e
71, SIUAT 2011 % AR 5 T <ht STere daifoss § 7

(a) ST I (b) foEr

(c) ufyem e d)
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72.

73.

74.

75.

76.

77.

78.

79.

80.

Sunderban Delta is famous for which tree ?

(a) Rosewood (b) Sal

(c) Sundari (d) Shisham

Which of the following Volcanoes occurs in the middle of a crustal plate ?

(a) Mount Fujiyama (b) Mount St. Helens
(c) Karkotoa (d) Mount Kilimanjaro

Most of Earth Continuous Perma-Frost is found in
(a) High altitude mountainous environment

(b) Antarctica

(c) North America and Siberia

(d) Greenland

The biome with the shortest growing season is
(a) Savana (b) Taiga
(c) Chapparal (d) Tundra

Xerophytic plants are mostly occur in
(a) Tundra and Taiga (b) Midlatitude and Mediterranean forests
(c) Grasslands and deserts (d) Savanna and tropical rain forests

Which of the following biomes is most likely to be subject to desertification ?
(a) Tropical grasslands (b) Midlatitude forests
(c) Mountains (d) Boreal forests

During the Summer Monsoon in South-East Asia
(a) Weather is usually clear and dry

(b) Winds blow Southward from Central Asia
(c) Air flows into Asia from the Indian ocean
(d) Air flows low to high pressure

Man’s Impact upon permafrost includes

(a) Increase in depth of permafrost

(b) Gradual poleward shift of Permafrost zone
(c) Protecting permafrost from animals

(d) Inducing thermal erosion

The most important plant resource of the boreal forest environment is
(a) Wheat (b) Forest products
(c) Citrus fruits (d) Natural rubber
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72.
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=1 O 9 o o1 I T TeeRIe el S U B 7

(a) 397 hicae™ am & A (b) VSR a4

(c) wdd d) e

gferor-ud i # Hisaehrefi= HTEE % SR

(a) THH ITH: % U [ T 2 |

(b) BT WE UM ¥ SiET 1 TR vEld il | |
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(d) Far = 91 gare @ 3= 91 guTd hY 3R Yafad Bl |

T T THTHTE T YHTe TifeTd hidl 2

(a) THTSHTEE Shi TT&dT <hl S@TaT & |

(b) TRHTSHTEE SF 1 FR-¢R g <t 3R Rewep |
(c) URHTPRE &l e ¥ ST |
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S o TATE0T 1, Ha8 Tecaqul aefd TH1eE § -—
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86.

87.

88.

89.

90.

Which of the following is an example of Isostasy ?
(a) Formation of Andaman Islands (b) Formation of Rocky mountains
(c) Sinking of the Mississippi Delta (d) The San Andreas Fault

Which of the following is not a programming language ?

(a) VB by C

(c) Oracle (d) Java

Which of the following is responsible for data transfer between Memory and ALU ?
(a) ROM (b) Internet

(c) Control unit (d) RAM

Which of the following is known as Brain of Computer ?

(a) Monitor (b) Mouse

(c) Key Board (d) c.pr.u.

TCP stands for

(a) Text Control Protocol

(b) Transmission Control Protocol

(c) Transmission Communication Protocol
(d) Transmission Calibrated Protocol

.html is an example of

(a) Domain (b) Database

(c) Protocol (d) File extension
Generally www pages are developed by

(a) URL (b) HTML
(c) IRS (d) FTP

One NIBBLE is equal to bits.

(@) 2 (b) 4

(c) 6 d 38

What type of device is a ROUTER ?

(a) Input (b) Output
(c) Networking (d) Telinet
Computer Virus affects

(a) Software (b) Hardware
(c) Computer language (d) None of the above
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1 & 61 |1 e 1 IS R 7

(a) STUSHH GIaEHg 1 (b) Tt gETSt @ fmio
(c) Torefieidt gam o1 T (d) T TUERTE ¥
frafefaa o @ S e Tmfim Y E R

(a) <& (VB) (b) H(C)

(c) 3T (Oracle) (d) & (Java)

A 37 T.UA.Y, (ALU) % AL ST T 0T U &

(a) U9 (ROM) (b) 3eTe

(c) gl e d) I (RAM)

71 o 9 fop8 HP=IET (Computer) 1 AT gl I1AT & ?

(a) WHIX (b) H=™

(c) HI-TE (Fofluea) (d) #dt3,

&. =t A, (TCP) #1 AL &

(a) %amz helet TIeiehicl (b) gr@rﬁqsr:r el TIerehict
(c) MM HEIfehI Teehial (d) TR HiTeids Telhia
html] T 3eE 8 -

(a) S (b) STCSE HI

(c) TIeIhicT sl (d) IS TFEETH T
HMHAG:, www EEERCEIE) %ﬁﬁ % -

(a) 9. 3AT.TA. (URL) (b) TE.A.wW.TA. (HTML)
(c) 3TE.3TR.TE. (IRS) (d) THAH. (FTP)

T feset s focag |

(@ 2 (b)

(c) 6 d 8

T3 (Router) Tord TR i ﬂ'f%ﬁ 27

(a) 3T (Input) (b) T (Output)

(c) A=A (Networking) (d) et (Telinet)

I FowT] (Virus) ToTferd st &

(a) TGS HI (b) ETERR B

(c) THERIET TN I (d) 3IE H § IS T
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98.

99.

100.

Which Satvahana king designated himself title of Ekbrahman ?
(a) Yagnashree Satakarni (b) Satakarni
(c) Gautamiputra Satakarni (d) Vashisthiputra Satakarni

What is meant by ‘BALI’ in the Vedic period ?
(a) Sacrifice (b) Bull
(c) Hereditary (d) Gift to ruler by the subjects

Which Buddhist text refers to ‘Solah Mahajanpadas’ ?
(a) Anguttar Nikaya (b) Mahavansh
(c) Deegh Nikaya (d) Mahawagga

By whom was the ‘Buland Darwaza’ built ?
(a) Akbar (b) Jahangir
(c) Shahjahan (d) Babur

Which one of the following ruler had introduced ‘Ikta’ first in India ?
(a) Itutmish (b) Balban
(c) Allauddin Khilji (d) Razia

Who introduced Mansabdari System in India ?
(a) Shahjahan (b) Jahangir
(c) Akbar (d) Aurangzeb

Kabir was brought up by a Muslim weaver named :
(a) Rahim (b) Ramanand
(c) Neeru (d) Chaitanya

Who was the leading exponent of the ‘Chaukhambha Theory’ ?
(a) M.G. Ranade (b) Mahatma Gandhi
(c) Ram Manohar Lohia (d) Annie Besant

What was the main objective of Wahabi movement ?
(a) Good relations with the British (b) Purification of Islam
(c)  Support of English education (d) Opposition to social reforms

Which one of the following socio-religious movement raised voice in favour of the
depressed class ?

(a) Brahmo Samaj (b) Prarthana Samaj
(c) AryaSamaj (d) Satya Shodhak Samaj
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